6.13
6.13.1

@

D

2)

3)

4)

6.13.1

(Verd.3.2) ( 30 6

(CO, )

<« “— NIl
(CO, CH, N,0) (co,) (Co,)

T

(CO, CH, NO)

2
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(CURE (CURD €o, )

(CO, )
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b)

(CO2) (CHs) (\;0)
( )
IPCC( )
6.13.1
(
30 3 ) 280 /  35,754.8
t/
6.13.1
133t/ 280 / 35,754.8 t/
A.
CO;
(@)
(verd.3.2) (30 6
)
[ ®]
®] <[ (6.65 )]
> [ 80 )1 =< 1[ (53.2 )]
6.13.2
6.13.2
> > >
35,754.8 t/ 6.65 80 53.2 1,011.9 t/
(Ver4.3.2) (30 6 )
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(Verd4.3.2) ( 30 6
)
[ O]
[ o1 x[ (18.1 )]
x [ (80 )]
6.13.3
6.13.3
> x<
35,754.8 t/ 18.1 80 5,177.3 t/
(Vers.3.2) ( 30 6 )
B. CHs
CH,
6.13.1
C. N0
N,0
6.13.1
6.13.4
(Verd.3.2) (
30 6 )
6.13.4

KL/ 36.0

kWh/ 5,980,800

kWh/ 299,000
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6.13.5

6.13.5
125 61 27 213
( ) 57 29 13 99
( ) 15 7 3 25
44 22 9 75
9 3 2 14
6 6
6 6
81 39 24 144
44 22 9 75
125 61 33 219
29
30
) 6.13.6
Okm
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6.13.6

60.3km 0.0km 60.3km
18.6km 0.0km 18.6km
60.3km 14.9km 75.2Kkm
18.6km 14 .9Kkm 33.5km
60.3km 29.3km 89.6km
18.6km 29.3km 47 .9km
29 ( 30 6 )
6.13.6
6.13.7 6.13.8
6.13.7
/ km L/km kL/
81 60.3 278.1
39 75.2 0.156 167.0
24 89.6 122.4
44 18.6 24.5
22 33.5 0.082 22.1
9 47.9 12.9
29 ( 30 6 )
6.13.8
kL/
567.5
59.5

6-375




1 1.4.5 (8) 6.13.9
280
6.13.10
6.13.11
6.13.9
KWW 3,420
ki 980.0 2,100 3,420
% 11.8 16.6 19.2
6.13.10
( )
kih Kih/
2,100 24 280 14,112,000
6.13.11
Kih/ 14,112,000
Kih/ 5,980,800
kih/ 299,000
-( - ) |k 8,430,200
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6.13.12
0.9ha
6.13.12

Ne (m?) (ha)
1 5,579.0 0.558
2 591.4 0.059
3 9244 0.092
4 72.4 0.007
5 88.9 0.009
6 57.4 0.006
7 94.1 0.009
8 11.5 0.001
9 33.7 0.003
10 27.7 0.003
11 29.4 0.003
12 17.2 0.002
13 12.2 0.001
14 687.8 0.069
15 610.3 0.061
16 138.5 0.014

8,976.0 0.898
1 No. 6.13.2
2 31 4
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6.13.1 (1) 4) b)

6.13.14

29
30 y 101
6.13.14

C0, 698.6 275.0 100.5|  1,074.2| t/
C0, 3,574.4]  1,407.0 514.2|  5,495.6| t/
CH, 24,685.0)  9,716.9]  3,551.0| 37,952.9 t/
N0 24,685.0)  9,716.9]  3,551.0| 37,952.9 t/
(A C0, 19.7 48.0 21.3 89.0| kL/
( C0, 0.454 0.5/ kL/
(LPG) CO, 0.201 0.2 t/
( 0, |2,595,364.0/2,006,931.0[1,029,577.0|5,631,872.0|kWh/
C ) CO, 277.9 133.8 82.3 494.0| KL/
( )| co, 24.5 12.3 5.0 41.8| kL/
( CO, 0.123 0.150 0.359 0.632| ha

6-379




(Verd.3.2) ( 30 6
) 6.13.15
6.13.15
1
CO, 2.29| tCO,/t 1
CO, 2.77| tCO/t 1
CH, 0.00000095| tCH,/t 1
N,0 0.0000567| tN,0/t 1
A ) Co, 2.71| tCO/kL | 1
« ) Co, 2.49] tCO/kL | 1
(LPG) Co, 3.00] tCo/t | 1
« ) Co, 0.000496| tCO/kWh | 2
« ) CO, 2.58| tCO/KL | 1
( ) CO, 2.32| tCO/KL | 1
2 CO, -0.000496| tCO,/kWh 2
« )¢ CO, -4.653|tC0,/ha 3
L Cco, / ]
o, 0
@.7t/ha HI<[ (47 )]>=<44/12
1 (Ver4.3.2) 30 6
2 - 29 - ( 30 12 )
3 2018 ( 30 4
)
(Verd.3.2) ( 30 6
) 6.13.16
6.13.16
(C0Y) 1
(CHy) 25
(N20) 298
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(Verd.3.2) ( 30 6 )
[ (tCo./ )1 [ 1><1 1 ><1
5)
a)
6.13.17
14,919.5tC0,/
6.13.17 )
€0, )
CO, 2,317.3 | tCO,/
CO, 14,341.1 | tCO,/
CH, 0.8 | tCO/
N,0 604.1 | tCO/
« ) Co, 91.1 | tCO/
« ) Co, 148.3 | tCO,/
« ) Co, 1,464.3 | tCO/
( ) Co, 137.9 | tCO/
Co, -4,181.4 | tCO/
« ) Co, -4.2 | tC0/
Co, 14,919.5 | tC0,/
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b)

6.13.18
22,730.7tC0x/

6.13.18 ( )

CO, 1,599.9 629.8 230.1] 2,459.8[tC0,/

CO, 9,901.1] 3,897.4]  1,424.3| 15,222.7|tC0,/

CH, 0.6 0.2 0.1 0.9] tco,/

N,0 417.1 164.2 60.0]  641.3[tC0/

(A CO, 53.4 130.1 57.8]  241.2[tc0./
« ) Co, 1.1 1.1]tco/
(LPG) CO, 0.6 0.6] tCo./
« ) Co, 1,287.3 995.4 510.7| 2,793.4]tC0/
Co, 716.9 345.2 212.4] 1,274.5[tC0./

CO, 56.9 28.5 11.6 97.0[tC0y/

( CO, -0.6 -0.7 -1.7 -2.9|tC0/
CO, 14,033.1] 6,192.0]  2,505.5| 22,730.7tC0,/
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6.13.2

(€H)
1)
a)
b)
29 3
2030 ( 12 26
6.13.19
6.13.19
(
26 26
) (26 )
( 29 3 )
2)
a)
6.13.20
( 29
6.13.20
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6.13.20

4,000tC0/

2

2 1
6.13.17
b)
6.13.21
34.3
6.13.20
6.13.21
(1C0/ ) (1C0/ ) (tC0:/ ) )
22,730.7 14,919.5 7,811.2 34.3
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